

$$f(x) = \begin{cases} \cos \frac{\pi x}{\varepsilon} & ; x \leq 1 \\ \sqrt{x^2 + 1} & ; x > 1 \end{cases}$$

$$\frac{\sqrt{x^2 + 1}}{\sqrt{x^2 + 1}} = 2$$

$$f\left(\frac{1}{3}\right) = 2 \rightarrow f\left(\frac{1}{3}\right) = \cos \frac{\pi \times \frac{1}{3}}{1} = \cos\left(\frac{\pi}{3}\right) = \frac{1}{2}$$

الف) $f\left(\frac{1}{2}\right) = \sqrt{\frac{1}{4} + 1} = \sqrt{\frac{5}{4}} = \frac{\sqrt{5}}{2}$ و $g(x) = 2 \cos^2 x \rightarrow f\left(\frac{\pi}{4}\right) = 2$

ب) $f(x) = [x]$ و $g(x) = \frac{x}{1-x} \rightarrow f\left(\frac{1}{2}\right) = 1$

$$\rightarrow \frac{\frac{1}{2}}{1-\frac{1}{2}} = 1 \rightarrow \frac{1}{2} \times \frac{2}{1} = 1$$

$$f(x) = \sin x \rightarrow \sin \frac{\pi}{2} = 1$$

$$g(x) = x \sqrt{1-x^2}$$

$$g\left(\frac{1}{2}\right) = \frac{1}{2} \sqrt{1-\frac{1}{4}} = \frac{1}{2} \sqrt{\frac{3}{4}} = \frac{\sqrt{3}}{4}$$

$$\rightarrow \frac{\frac{1}{2}}{\frac{\sqrt{3}}{4}} = \frac{1}{2} \times \frac{4}{\sqrt{3}} = \frac{2}{\sqrt{3}}$$

$$f(x) = \{(1,2), (2,1), (3,4), (4,3)\}$$

الف) $f \circ g(x) = \{(1,2), (2,1), (3,4), (4,3)\}$

ب) $g \circ f(x) = \emptyset$

ج) $f \circ f(x) = \emptyset$

د) $g \circ g(x) = \{(1,2), (2,1), (3,4), (4,3)\}$

$$f = \{(1,2), (2,1), (3,4), (4,3)\}$$

$$g = \{(1,2), (2,1), (3,4), (4,3)\}$$

$$(1,2) \in f$$

$$(1,2) \in g$$

$$(a,b) \in f$$

$$\rightarrow (a,b) \in g$$

$$f \circ g(x) \rightarrow \begin{matrix} 1 \rightarrow 2 \rightarrow 1 \\ 2 \rightarrow 1 \rightarrow 2 \\ 3 \rightarrow 4 \rightarrow 3 \\ 4 \rightarrow 3 \rightarrow 4 \end{matrix}$$

$$g \circ f(x) \rightarrow \begin{matrix} 1 \rightarrow 2 \rightarrow 1 \\ 2 \rightarrow 1 \rightarrow 2 \\ 3 \rightarrow 4 \rightarrow 3 \\ 4 \rightarrow 3 \rightarrow 4 \end{matrix}$$

دلیل صحت عمل $f \circ g$ و $g \circ f$ این است که هر دو تابع یک به یک و onto هستند.

$$f(b) = \sum_{b \in B} f(b) \quad \hookrightarrow \quad a \cdot \sum_{b \in B} f(b) = \sum_{b \in B} a \cdot f(b)$$

9. (KNO_3) 2 MgCl_2

$$g(\underbrace{f \circ b \circ \gamma}) \circ \gamma \circ \gamma$$

$$\xrightarrow{f \circ b} \gamma \circ \gamma \rightarrow \gamma \circ \gamma$$

$$g \circ f \circ \gamma \circ \gamma$$

$$\xrightarrow{f \circ b} \gamma \circ \gamma \rightarrow \gamma \circ \gamma$$

$$\xrightarrow{f \circ b} \gamma \circ \gamma \rightarrow \gamma \circ \gamma$$

$$\xrightarrow{f \circ b} \gamma \circ \gamma \rightarrow \gamma \circ \gamma$$

$$\begin{array}{l} y_{n-1} \\ -y_{n-2} \end{array} \rightarrow \boxed{y_{n-1}}$$

$$f(-1) \rightarrow \frac{\frac{1}{2} - 1}{-1} = -1$$

$$f(x) = \sqrt{x+1} \rightarrow x+1 \geq 0 \rightarrow x \geq -1$$

$$g(x) = \frac{1}{x^4 - 5x} \rightarrow x^4 - 5x \neq 0 \rightarrow x(x-5) \neq 0$$

$$x \neq 0, 5$$

$$D(g, f)^2 : \mathcal{L}_0, x \in Df \rightarrow \mathbb{R}$$

$$f(g \circ f) = ? \hookrightarrow x \in Df \rightarrow \mathbb{R}$$

$$\{g(y) \in Dg \rightarrow \sqrt{|x|+1} \neq 0, \in\} \quad \begin{matrix} \text{no but } \neq 0 \\ \text{no but } \neq 14 \end{matrix} \rightarrow x \neq 0, 9 \} \quad (6, 1) \cup (1, 6)$$

$$f(x) = 2\sqrt{1-x^2}$$

$$g(x) = 2\sqrt{x}$$

[191]

$$(f+g) \circ f^{-1} \circ \iota \circ \iota^{-1} \circ f \circ f^{-1} \rightarrow 1 \circ \iota \circ \iota^{-1} \circ 1 \rightarrow 1 \circ \iota \circ \iota^{-1} \circ 1 \rightarrow 1$$

$$\frac{1-x^2}{\sqrt{1-x^2}} \leq 1$$

$$f(x) \in D(f+g) \hookrightarrow D(f+g) \rightarrow \sqrt{1-x^2} \cdot \sqrt{x} \rightarrow \frac{1}{2} x \leq 0 \rightarrow \sqrt{1-x^2} \leq 1$$

الف) $\left(\frac{x^2 + 1}{x - 2} \right)^{2x} \cdot x^2$

$$\text{الف) } \left(\frac{x^2 + 1}{x^2 - 1} \right) = \frac{x^2 + 1}{x^2 - 1} = \frac{x^2 + 1}{(x-1)(x+1)}$$

$$-) \left(\frac{29}{91} \right)^{1/2} \frac{1}{a^{1/2}}$$

$$-) f\left(\frac{x+1}{x}\right) = \frac{1}{x^2} \cdot \frac{1}{\frac{x+1}{x}} = \frac{1}{x^2} \cdot \frac{x}{x+1} = \frac{1}{x(x+1)}$$

$$f(x) \begin{matrix} \xrightarrow{u^2} \\ \xrightarrow{u^2 \sqrt{y}} \end{matrix} y^{20}$$

$$\hookrightarrow g(b_2)_{20} \hookrightarrow f_{20} = 2521$$

$$\left\{ \begin{array}{l} 2\sqrt{2} \ 2\sqrt{2} \\ 2\sqrt{2} \ 2 \end{array} \right\} \begin{array}{l} 2\sqrt{2} \ 3 \\ 2 \ 2 \end{array} \rightarrow \text{Y-121}$$